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& 5,930
Al 13,835
M I1RINZ2Z2sSEs 19,765 40,000 AN20,235
O=s&2 dolls HEYHE 212t 19,765
o=0 78,8302 x 164 12,937
T 3,881




2A:

s8JI=4H

Ma: 2 =ACIH WIS AW AsHSHSLL /=D - 5E)
el SIHEREGHEXIE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 9,056
oR=RESY 78,8802 x45H 3,550
== 1,065
Al 2,485
o dXtRERIIrE 78,8803 8 632
= 190
Al 442
o =4l 60,0002 82 480
=S 144
Al 336
o uEH| 30,0002 +8E 240
S 72
Al 168
odEE= 17,116,9602 %10.795% 1,848
= 554
Al 1,294
00K R
17,116,960 3. 545%+12.81% 78
S 24
Al 54
201 er23 | 3,235 3,000 235
= 970
Al 2,265
01 At2teltl 3,235 3,000 235
Os&= doils ozgne 29
3,235,000 3,235
=S 970
Al 2,265
206 M=l 7,000 7,000 0
< 2,100
Al 4,900
01 M=4l 7,000 7,000 0
Os&= Holls Ml Hl & I
7,000,000& 7,000
= 2,100
Al 4,900
sSHEYE LYHUIXA 850 2,120 1,270
= 850
206 MH=Hl 850 2,120 21,270
= 850
01 MHZHI 850 2,120 1,270
Ozodais(=atad & B 20158
) 2HHIEl X2 400,000 400
- 400




2A: sHIIsUEH
¥ SU S0 Hais 3 LsHsHogrd/sd - &)
el SIHEREGHEXIE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSZHE(DIZHAZ, 2ALHH0IE
S) gl X 450,000 450
= 450
ZIRL 2H 75,000 76,500 21,500
201 er23| 4,000 5,000 21,000
01 At2t2ltl 4,000 5,000 A1,000
OZz=ZRECAGHY 29
2,000,000&#25 4,000
301 EtE2 NS 1,000 1,500 A500
11 #AIAHIXIZ = 1,000 1,500 A500
OzZ&L X A 1,000,000 1,000
307 212+01& 20,000 20,000
02 LB HANHEE 20,000 20,000
OzZECsdE 28 X
20,000,000 20,000
402 2IF X201 & 50,000 50,000
01 QI X2 AL E A (KHHITHR) 50,000 50,000
OZZTCS AZMUHH PEXL
50,000,000 50,000
gt s XI& 133,000 303,000 A170,000
== 40,000
Al 93,000
402 2I2E X201 & 133,000 0 133,000
< 40,000
Al 93,000
03 2IZHRAETAIHHI 133,000 0 133,000
Ogrgt sAtH XI& 133,000,000& 133,000
= 40,000
Al 93,000
H S2A4 K& 8,500 4,250 4,250
=S 2,550
Al 5,950
402 2I2F X201 & 8,500 4,250 4,250
== 2,550
Al 5,950
02 SIINEANSEX(0IETHR) 8,500 4,250 4,250
Ol ER2AIE X
8,500,000 x2JH 2=*50% 8,500
= 2,550
Al 5,950
ASEHFT L 344,015 444,942 /100,927
= 104,353
Al 239,662
Sy A3 80,000 76,000 4,000




2A: sHIIsUEH
B AUl S0 HSHS M AS(SHYSL/ 5 - 5E)
Rl ASEHRS XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 32,000 28,000 4,000
02 2B YA HE L 32,000 28,000 4,000
Ot SEEY XA (HaHSLM )
20,000, 000& *80% 16,000
O N (SF, 25, sLdls)
20,000, 0002 *80% 16,000
402 D12 XH20( & 48,000 48,000
01 BIZEXHE AR 2 X (RHAITHE) 48,000 48,000
O%lel BEaa ALTE
100,000,000 *48% 48,000
B e o4& S s K& 6.510 18,837 A12,327
= 1,953
Al 4,557
307 gl2to| & 6,510 18,837 N12,327
=S 1,953
Al 4,557
02 QB AANEER 6.510 18,837 A12,327
Ol Mg && s st X
207,000& *44.921ha*70% 6.510
< 1,953
Al 4,557
oA SHSAIY 8,000 4,000 4,000
= 2,400
Al 5,600
402 2IZtA=01d 8,000 4,000 4,000
S 2,400
Al 5,600
02 BIENZASEZ(0IETHR) 8,000 4,000 4,000
ObldatA st
8,000, 0002 24 2= +50% 8,000
< 2,400
Al 5,600
Mlsss sgdds 1,000 1,000 0
301 EtE N = 1,000 1,000
11 HAIMHIXIZ S 1,000 1,000
OMJIs&S s&ddst 100,000& %10 1,000
MASES g X2 31,000 33,000 /2,000
206 M=l 2,000 2,000 0
01 M=4l 2,000 2,000 0
OMaSH= Mg 52
1,000,000& x25 2,000
307 glztol & 4,000 5,000 A1,000
02 B HAHE L 4,000 5,000 21,000
OJlsda= AE bl 4,000,000 4,000




QA SYIISHE
¥ SUQ S0 Halis 3 LsHsHoLrd/sd - &)
Rl ASEHRS XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
402 QI2F X201 & 25,000 26,000 21,000
01 QI X2 AL E R (KEHITHE) 25,000 26,000 21,000
OJI=Hslis MASAES Y
4,500,000 *25 9,000
OMASHS TSR =& (FTACHI)
8,000, 0002 44 2 +50% 16,000
ASEHSNLXE K23 900 1,000 A100
202 04| 900 1,000 A100
01 =LHO LI 900 1,000 A100
OLSHS HEXE U0
900,000 900
AETHA =HCHIHBH 8,000 8,000
402 DIZHXH0/ A 8,000 8,000
01 QIZHRHZ AR 2% (XA TH ) 8,000 8,000
OA&THA SHCHTHBH(LITHEHE )
8,000,000 8,000
AEAUSE 23 8,605 13,105 24,500
201 2= 5,105 6,605 21,500
01 At22t2lt] 3,500 3,605 A105
Oz2R S51E)| 2RN(RY)= W 223
- 250,000 x5 *22] 2,500
OagasE 23| 50,0002 x5S +4H 1,000
02 S3=gl 1,605 3,000 A1,39%
ORcl24 =2l 1,500,000 1,500
OJIMESHEAIAH AIER
8,710& 128 105
206 M=l 3,500 6,500 23,000
01 MHZH| 3,500 6,500 /3,000
AgMsE 2EME 2,000,000& 2,000
ORrcl2d 28M= 500,000 *3H 1,500
XS g5 &S J|Bd(MEAIY) 200,000 200,000 0
s 100,000
Al 100,000
402 2I2E X201 & 200,000 200,000 0
[ 100,000
Al 100,000
02 QI X2 AL EE (01X THE) 200,000 200,000 0
OXgg=st &5 Ity
200,000,000 200,000
= 100,000
Al 100,000
dBd3sy 54 235,085 236,850 1,795
= 25,192
= 23,198




2A: sHIIsUEH
¥ SUQ S0 Hais 3 LsHsHogrd/sd - &)
el EEseY =4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 175,325
= 11,340
sl U= 1,900 2,600 AT700
201 er23 | 1,400 1,600 A200
01 At2teltl 1,400 1,600 A200
oget=dl 1,400,000& 1,400
301 EtE2 N = 500 1,000 A500
1 AREIXES 500 1,000 A500
Osgel U= 500,000 500
s Xs A= A3 3,050 5,070 A2,020
< 915
Al 2,135
301 2EN= 3,050 5,070 22,020
& 915
Al 2,135
14 IIEt2 83 3,050 5,070 /2,020
st NE =M N2
3,050,000& 3,050
= 915
Al 2,135
H gois ss2M A 12,320 12,320
307 21201 & 12,320 12,320
02 LB AANHEE 12,320 12,320
OH golils SR £2s X
700,0003 x22ha=8(0% 12,320
dEold Z2HIE N2 21,000 7,000 14,000
= 6,300
Al 14,700
307 el2to| & 21,000 7,000 14,000
= 6,300
Al 14,700
02 QIHEHAIEE X 21,000 7,000 14,000
OdEold €88l XA
2,800,000 * 15hax50% 21,000
< 6,300
Al 14,700
IsS XM X2 1,475 2,294 AB819
= 595
== 264
Al 616
307 212+01& 1,475 2,294 AB819
= 595
=S 264
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2A: sHIIsUEH
¥ SUQ S0 Hais 3 LsHsHogrd/sd - &)
el EEseY =4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 14,700 4,200 10,500
= 1,008
Al 2,352
= 11,340
14 JIEt2 = 14,700 4,200 10,500
Ozletd sitE ASEAY
700,000 *8H «60% 3,360
= 1,008
Al 2,352
OFBA sS4 ASZFH|(KH)
700,000& 27 & +60% 11,340
= 11,340
detdsg N2l 900 1,000 2100
202 0o4dl 900 1,000 A100
01 =LHNHI 900 1,000 A100
O=LHNHI 900,000 900
dtdsgE= 174 3,880 A3,706
= 174
301 EtE N = 174 3,880 A3,706
2 174
14 JIEt2 8= 174 3,880 A3,706
Ozlgdsg HEX=H 174,000 174
= 174
ZSFAESYR M0z FEMS 720 1,080 360
< 144
Al 576
201 el 720 1,080 A360
= 144
Al 576
01 At2teltl 720 1,080 A360
OXBAAHS0 H2IEHE HB
90,0002 ~8& 720
= 144
Al 576
ENEM X2 37,751 50,232 12,481
= 24,423
= 6,664
Al 6,664
307 @20l & 37,751 50,232 A12,481
= 24,423
= 6,664
Al 6,664
02 2IZHBYAIHE & 37,751 50,232 12,481




M sgII=4dH
M U =S0H HIUS MY LN (=SlLrd/ =Y - &)
el EEseY =4 EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OELMNEH X 37,751,000 37,751
= 24,423
T 6,664
Al 6,664
StugAa ZEHZA MACT|XIR 40,000 40,000 0
307 212+01 A 40,000 40,000
02 QIZHAAAIEER 40,000 40,000
OSt DA HBFY BNSXX R
2,000,000 *20ha 40,000
A ZAH D 767,915 848, 154 A80,239
= 123,505
| 115,559
= 56,760
Al 472,001
Pl PNE] 43,082 48,260 A5, 178
101 214 d| 1,622 800 822
M IIRNZ2E2XsSEs 1,622 800 822
OJ=Ead= U= el 1,622
o 12| 78,8803 x2%*103] 1,578
olESEH 1,577,600&*1.75% 28
otHHEH 1,577,6003 * 1% 16
201 Ler23| 10,260 13,260 A3,000
01 AtR22elt] 10,260 13,260 A3,000
OJI=¢49 22| 50,0002 x10&+8H 4,000
OJIE¢49 22| 50,0003 x55*43| 1,000
OIIE4H= HHIYXL 300,000& *33] 900
O=SYA2/AF =4I
300,000& 12 3,600
OZsgA=0/A II=H| 200,000 200
OF4 U YoiEos oy
70,000 +8H 560
202 O4H| 900 1,000 A100
01 =ZLHOdHI 900 1,000 2100
O0ISE JIEYS U BEYALA 22
mi= 100,000& *93| 900
206 =6l 10,600 13,500 22,900
01 =Yl 10,600 13,500 A2,900
OJ= 99 M=l 200,000& 108 2,000
OJt=g9y Al 40,000 1004 4,000
OZAY AlsgAl 2,000%*1,8004 3,600
OZY M oY 43 50,0003 *20S 1,000
301 LetENZ 19,700 19,700
11 HAAHIXIE S 200 200




2A: sHIIsUEH
¥ SU S0 Has I3 LsHsHogri/sd - &)
ol Ay ZHE M (St &)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
OS2/ At 04H| 100,000 22 200
14 DBt 2 a3 19,500 19,500 0
ONEEES A=t 5,00084+3,6005 18,000
ONZES Lol 22t 300,000 *55 1,500
IIEEMHES XI& 7,500 11,600 24,100
[ 1,500
Al 6,000
307 glztol & 7,500 11,600 24,100
= 1,500
Al 6,000
06 2= 7,500 11,600 A4,100
OJEMHESE 1 X 7,500,000 7,500
= 1,500
Al 6,000
IIEE KA 600 1,600 21,000
== 180
Al 420
301 2= 600 1,600 21,000
== 180
Al 420
14 J|EI2 &= 600 1,600 21,000
OJsdas X 80,0003 x155*50% 600
= 180
Al 420
IEEY oY % FAAF Y S NF (1) 167,111 210,076 N42,965
= 115,931
= 10,384
Al 40,796
206 MH=Hl 141,521 154,449 A12,928
= 98,793
== 8,575
Al 34,153
01 MZH| 141,521 154,449 A12,928
Oulg=At & I8z S Xl
140,921,000 140,921
= 98,493
< 8,485
Al 33,943
OFLtAre PSS HAIH# 600,000 600
= 300
[ 0
Al 210
301 LEtE NS 25,590 28,591 23,001




2A: sHIIsUEH
¥ SU S0 Has I3 LsHsHogri/sd - &)
ol Ay ZHE M (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 17,138
=S 1,809
Al 6,643
14 0Bt 2as 25,590 28,591 23,001
O4 S22} 23 ey X
750,000 750
= 225
= 105
Al 420
OOIMES A 070120 ATAA|
22,464,000 22,464
= 16,725
=S 1,348
Al 5,391
O=4HTIE (PS S4IZ X2
2,376,000& 2,376
= 1,188
== 356
Al 832
2ELSNY S4 28,500 22,430 6,070
= 8,550
Al 19,950
307 elztol & 4,500 11,630 AT7,130
= 1,350
Al 3,150
02 2B YAIHE £ 4,500 11,630 AT7,130
ORALZHUCT SH(2252)
9,000,000 *50% 4,500
s 1,350
Al 3,150
402 212 X201 & 24,000 10,800 13,200
& 7,200
Al 16,800
02 QI X2 AL EE (01X THE) 24,000 10,800 13,200
OLJLsEHE LIS US)
48,000, 000& #50% 24,000
= 7,200
Al 16,800
e SEEHE XML 7,210 19,600 12,390
== 2,170
Al 5,040
307 212+01& 7,210 19,600 212,390
= 2,170
Al 5,040




2A: sHIIsUEH
¥ SU S0 Has I3 LsHsHogri/sd - &)
ol Ay ZHE M (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 7,210 19,600 12,390
OZ e SSEHE JIXIHL
7,210,000& 7,210
= 2,170
Al 5,040
HE - SH - A Al 28 NE 10,250 86,840 AT76,590
== 3,075
Al 7,175
101 e124d| 6,073 29,561 N23,488
< 1,824
Al 4,249
M ORINZZ2NSE S 6,073 29,561 N23,488
OSHIZEA Q2| 6,073
o= 87,9503 x2& x4 4,222
= 1,267
Al 2,955
o =4l 60,0003 2 120
< 36
Al 84
o wSH| 30,0002 *2& 60
= 18
Al 42
odEE = 5,457,000& *10.795% 590
=S 177
Al 413
0LOIEIRULEE
5,457 0002 *3.545%+12.81% 25
< 8
Al 17
o dXtRERIIrE
87,9503 x2H 6 1,056
=S 318
Al 738
201 2= 3,000 20,000 A17,000
= 900
Al 2,100
01 At2teltl 1,500 10,000 /8,500
O=4 29| 1,500,000& 1,500
= 450
Al 1,050
02 S3=gHl 1,500 10,000 28,500
O=x=a E3294H| 1,500,000 1,500
s 450
Al 1,050




M sgII=4dH
. FUQ s HIUS MY LM (= Srd/ s )
&Pl Sy 33" M EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
206 =6l 1,177 7,279 26,102
& 351
Al 826
01 =l 1,177 7,279 A6,102
O 28 23 € 943 1,177,000& 1,177
& 351
Al 826
SsLHH 23 25,950 25,860 0
| 12,975
& 2,59
Al 10,380
307 212+01™ 25,950 25,860 0
| 12,975
& 2,59
Al 10,380
02 QIZHBAAIEE R 25,950 25,860 0
O3s¢He 24 25,950,000 25,950
J| 12,975
= 2,595
Al 10,380
32 =& & 12,000 12,000 0
& 3,600
Al 8,400
301 LPENF 12,000 12,000 0
T 3,600
Al 8,400
14 J|EtE &2 12,000 12,000 0
O3=2A =Y 1,000,000& = 12& 12,000
= 3,600
Al 8,400
2HS g X 4,737 5,698 2961
= 2,574
= 610
Al 1,553
206 =6l 1,187 1,398 A211
= 79
T 77
Al 311
01 =Yl 1,187 1,398 A2
OFH< gial(ga 8) 170,000& 170
= 119
& 10
Al 4




2A: sHIIsUEH
¥ SU S0 Has I3 LsHsHogri/sd - &)
ol Ay ZHE M (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFHS HATE A3~ 25
165,000 165
= 83
< 16
Al 66
O4 THS BA(ARD) Y XYL4E
852,000 852
= 597
< 51
Al 204
301 EtE N = 3,550 4,300 AT50
= 1,775
== 533
Al 1,242
14 IIEt2 8= 3,550 4,300 AT50
O FHS HAHS A=t
3,000,000& 3,000
= 1,500
< 450
Al 1,050
O&84 FHSE HAES Al=bl
550,000 550
= 275
< 83
Al 192
=22 AFEsIot HESHH X& 10,000 10,000 0
= 3,000
Al 7,000
206 MH=H| 10,000 10,000 0
=S 3,000
Al 7,000
01 M=8l 10,000 10,000 0
O=g HASZM X2 10,000,000& 10,000
< 3,000
Al 7,000
gt ¥ Y 2AAMEH S XA (H2) 10,000 0 10,000
= 5,000
Al 5,000
405 AtatE = 10,000 0 10,000
= 5,000
Al 5,000
01 ML ESFSHI 10,000 0 10,000
Oa=ZH ¢ 10,000,000 10,000
= 5,000




M sgII=4dH
M U =S0H HIUS MY LN (=SlLrd/ =Y - &)
ol Ay ZHE M (St &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| Al 5,000
MNeHE S 22 X3 924 0 924
= 277
Al 647
307 QIZ2t01 A 924 0 924
= 277
Al 647
02 QIRHEAAIH B X 924 0 924
OMzxE X #2 X
1,848,000 *50% 924
& 277
Al 647
2 It 282l X2 230 230 0
= 69
Al 161
206 M=4| 230 230 0
= 69
Al 161
01 M=l 230 230 0
OS0HA EAY ol (HASZH)
230,000& 230
& 69
Al 161
2= 2 HI XJ 44,230 45,190 A960
307 gI2Hol ™ 44,230 45,190 A960
02 QIZHBAAIHE X 44,230 45,190 A960
OZEASE=sIH M K&
80,000,000 *50% 40,000
OF2 r=olo] o #AH &I
4,230,000 4,230
TAIZE MAD|BE 2= 61,000 41,000 20,000
206 =4l 1,000 1,000 0
01 =l 1,000 1,000 0
OAtZ A ST+ & X+
100,000 & x5 *23| 1,000
402 BIZHR=0l A 60,000 40,000 20,000
01 QIZEXHEAFE B 2 (RERITHE ) 60,000 40,000 20,000
OMZHZ & S4HE
120,000,000 *50% 60,000
TAtZ AL X 19,283 19,780 AN497
J| 6,520
= 3,261
Al 9,502
301 LetENEZ 17,059 16,740 319




QA SYIISHE
¥ SU S0 Has I3 LsHsHogri/sd - &)
el 4y 8= ML (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 5,686
=S 2,843
Al 8,530
14 0Bt 2as 17,059 16,740 319
OXZAtg MatE AFel X MK
18,954,000 *90% 17,059
7l 5,686
S 2,843
Al 8,530
307 212+01™ 2,224 3,040 A816
Jl 834
= 418
Al 972
02 QB EANEEX 2,224 3,040 A816
OZAE A2 EN7Y X
4,448,000 *50% 2,224
7l 834
= 418
Al 972
NS HEMSLUY SIS 5,400 6,000 2600
307 @I2t01 & 5,400 6,000 A600
02 LB MANHEE 5,400 6,000 2600
OMESE AU 8= 9,000,000 *60% 5,400
A oA 14,120 18,150 24,030
307 lztol & 9,000 11,750 A2,750
02 2B YA E X 9,000 11,750 A2,750
ORA=2XE A2 6,000,000& 6,000
OFAEINE &3 5,000,000 «60f% 3,000
402 2I2F X201 & 5,120 6,400 1,280
01 BIINSASE X (XM THR) 5,120 6,400 21,280
O=AH AIE JHE X1 12,800,000 *40% 5,120
Satsolg2te] N3 (RXIEH) 768 960 AR
Jl 384
=S 7
Al 307
307 21201 & 768 960 A2
2l 384
= 7
Al 307
02 2B YA R E A 768 960 A192
OFHSFHI 9,600 +80% 768
Il 384
= i




2| =HIE
el s3dHA BHattis 23 SH=elLrd/=S
ot ZHE KL )
SA - ZB . 9(B) - NIRAD - BaS A 2
Al 307
AHZ WS X2 Z| 4,250 4,500 A250
201 B2 AL| 900 1,000 A100
01 ArR2eltl 900 1,000 A100
OBAYH L BpHAY B
100,000 *92| 900
202 Ot 1,350 1,500 A150
01 =WO4bI 1,350 1,500 A150
O=U0l 90,000 15H 1,350
301 LEtBEF 2,000 2,000
11 HALAHIXIAZ 2,000 2,000
OFM=IHEH) HII158 L U=
100,000 *10E 23| 2,000
cletd a5 Mot 109,620 99,320 10,300
301 LBENZ 87,000 77,000 10,000
14 JIEt2 43 87,000 77,000 10,000
OLSSML Eot&eia N
250,000& *205 5,000
OSO0tX HAl Al=tl XI&
50,0003 *205 1,000
OSEUIEALZ (TMR) K
4,000& +7,500% 30,000
OF4sIt Az NI
3,000& *17,00012 51,000
307 QI2Ho1 M 22,620 22,320 300
02 QIRHHAAIHE X 22,620 22,320 300
OLSFHUAMXA 5,500,000 *60% 3,300
OSSO0t g&adst N
7,200,000 x60% 4,320
Ox=dAHAZXIA 30,000, 0003 *50% 15,000
wesaa N2 119,250 108,000 11,250
| 71,550
= 9,540
Al 38,160
301 LetENEZ 119,250 108,000 11,250
| 71,550
& 9,540
Al 38,160
14 JIEt2 A3 119,250 108,000 11,250
O3 D2RIA N2
5302 *9000H x250 119,250
| 71,550
= 9,540
Al 38,160




2A: sHIIsUEH
¥ SU S0 Has I3 LsHsHogri/sd - &)
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